FTHSFERERBHE R RAMABRRERR

BER HERX HAEH TEREH | IREBEYR RBREREH
L AR 506 383 226 98
=oF i 5 93 81 20 7
— i = B #HEEUT 25 23 10 3
L HRES (O L) 20 16 6 1
FEEELE) 4 4 3 1
+ % Wk i 25 17 17 9
rp % 8 8 7 4
= AR 7 5 5 3
Y B X
% 1 [ e 2 2 2 0
B OZE L REs 8 7 7 6
- #REs: 5 4 4 2
W Rk
rp AR 0 - - -~
B ¥ A L fRES 27 17 17 6
BB £ A 14 12 11 7
R 2 BEd 29 26 13 2
B E Bb 1 1 1 1
ESRE S TR i 8 7 6 1
— =B A 197 187 51 15
— i = & B 213 212 16(%1) 3
T
o AEBRE x ° 0 ° °
E = 10 8 7 6
B O 3 2 2 1
B W 3 2 1 1
— % E B P HR S 46 36 21 2
+ K P HR S 17 15 15 8
. B = AR 3 3 3 1
% 2 [ X
B W AR 0 - - -
1 7 0 - - -
B = SeF i
PR 2 0 0 0
L AR 9 7 4 1
BEEERR —HRET AR B 4 3 0 0
PR ES 3 3 0 0
= AR 2 1 1 1
B X\
rp % 2 2 2 0
Wk i 2 2 2 0
. oW AP R 1 1 1 0
% 3 [A
RS 0 - _ _
Wk i 2 1 0 0
B rh R 1 1 1 1
H R 2 1 1 1
e ANERE B =R L L 1 1
(ﬁbu%ﬁﬁ) 1:% m 1 1 1 1
— IR ETE (FROER M) 7 7 7 1
FHATEE B (738 T) 1 1 1 1
FHMEBE (RE L) (3%2) 2 2 2 1
B = B0 (3X3) 0 - - -
E Bf(AREHE) 3 3 3 2

X1 —REFBIZDONTIE, 2R (EREEHRE) ARBRIC DOV TR,

X2 PERFSEEE, SLENAILR6.1.230F =,

%3 [EL,




